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# 00000000000000

n<-30 #0000 n = 30

B <- 10000 # 0O OODOOOO0O B = 10000

x <- runif(n,min=0,max=5) # x ~ U(0,5)0 n0000
y<-x# 0000 y=x000

sd0 <- 1

ee <- matrix(rnorm(n#*B,mean=0,sd=sd0),n) # OO0 N(0,1)0000
yy <-yte #y=x+e

## QRO O

x1 <- cbind(1,x) # D OOOO

ql <- qr(x1)

Q1 <- qr.Q(q1) # QOO

R1 <- qr.R(q1) # ROD

IR1 <- solve(R1) # ROO OO

# 0000

b0 <- c(0,1) # DOODOODO

g0 <- R1 %*), b0 # DO 0OOOODODOODOO

## 0000000

> gg <-t(Ql) %) yy # 000D 0O0O0Oy 00O
> bb <~ IR %% gg # DOOOB OO0
>## 000000000
> round(rbind(x,yy[,1]),2)
[,11 (,21 1,31 [,41 [,5] [,6] [,71 [,8] [,9] [,10] [,11] [,12] [,13] [,:
x 1.98 0.13 0.86 0.31 4.45 0.19 2.89 2.60 2.97 4.34 3.62 4.79 3.07 4
1.67 2.28 -1.31 -0.89 3.66 -0.83 3.53 1.15 4.10 4.95 5.75 3.87 3.86 4
[,158] [,16] [,17] [,18] [,19] [,20] [,21] [,22] [,23] [,24] [,25] [,26] [,?
x 2.78 4.27 1.97 3.90 2.55 0.21 1.95 3.79 3.69 2.68 0.60 1.50 1.
4.33 4.29 1.80 3.65 2.21 -0.85 2.79 4.15 2.65 -0.10 0.35 2.47 1
[,28] [,29] [,30]
x 2.59 0.79 3.88
4.07 1.04 4.19
> bb[,1]
x
-0.2268940 1.0802004
>## 0000000000
round (rbind(x,yy[,2]),2)
[,11 [,21 [,31 [,4] [,5] [,6] [,71 [,8] [,9] [,10] [,11] [,12] [,13] [,14]

v

x 1.98 0.13 0.86 0.31 4.45 0.19 2.89 2.60 2.97 4.34 3.62 4.79 3.07 4.2
1.01 1.68 0.79 -1.23 3.69 0.40 3.98 2.39 3.50 4.01 2.65 3.76 5.27 5.7
[,151 [,16] [,17] [,18] [,191 [,20] [,21] [,22] [,23] [,24] [,25] [,26] [,

x 2.78 4.27 1.97 3.90 2.55 0.21 1.95 3.79 3.69 2.68 0.60
4.15 2.93 3.80 2.32 2.45 -0.73 1.62 3.60 2.45 3.27 -0.62
[,28] [,29] [,30]

x 2.59 0.79 3.88
3.156 0.63 3.93

> bb[,2]

X

-0.08195452 0.97730787

># 000000000000 DODO

> matplot(x,yy[,1:91)

> for(k in 1:9) abline(bb[,k],col=k,lwd=2)

1.5 1
1.4 -0

i 1:9]

# 0000

plot(ggli,],ggl2,1)

abline (v=g0[1],col=2)

abline (h=g0[2],co0l=2)

r <- sdO*sqrt(qchisq(0.95,length(b0))) # OO0 sd=1000
r

[1] 2.447747

> i <- seq(0,2%pi,length=300)

> lines(cbind(g0[1]+r*cos(i),g0[2]+r*sin(i)),col=4,1lwd=2)
> ## 00
>
>

V V.V V VvV Vv

rr <- apply(gg,2,function(v) sqrt(sum((v-g0)~2)))
sum(rr<=r)
[1] 9520
>## 0000
plot(bb[1,],bb[2,])
abline(v=b0[1],col=2)
abline (h=b0[2],col=2)
lines(cbind(gO[1]+r*cos(i),g0[2]+r*sin(i)) %*% t(IR1),col=4,lwd=2)

vV V. V Vv
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## 00000000

zz <~ yy - x1 /%% bb # 00

ss <- apply(zz,2,function(v) sum(vxv)) # 00000
hist(ss/s0°2,breaks=30,prob=T)

j1 <- seq(min(ss/s0°2) ,max(ss/s0"2),length=300)
lines(j1,dchisq(j1,n-1length(b0)))

# 000000000D0000OO
hist(rr~2/s0°2,breaks=30,prob=T)

j2 <- seq(min(rr~2/s072) ,max(rr~2/s0°2),length=300)
lines(j2,dchisq(j2,length(b0)))

## FOOOOODO

ff <- (rr°2/length(b0))/(ss/(n-length(b0)))

hist (ff,breaks=30,prob=T)

j3 <- seq(min(ff),max(ff),length=300)
lines(j3,df(j3,length(b0) ,n-length(b0)))

£0 <- gf(0.95,length(b0) ,n-length(b0))

f0

[1] 3.340386

V V.V V V V V V V V V V V VYV VYV

[1] 487

Histogram ofss1s0°2 Histogram of 1+2/s0°2
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># 0000
> £f0 <- qf(0.95,length(b0) ,n-length(b0)) # FO OO 00O 5%0
> rr0 <- sqrt(length(b0)*f0*(ss/(n-length(b0)))) # DO OOOO0O
> sum(rr <= rr0)
[1] 9513
> sum(rr > rr0)
[1] 487
>a<-1:100 # 0001000000000
> sum(rr[a] > rr0[al)
[11 7
> sum(rr[al > r)
[1]1 5
> plot(ggl1,],ggl2,],type="n") # 000000000
> for(k in a) lines(cbind(ggll,k]+rr0[k]*cos(i),ggl2,k]+rr0[k]l*sin(i)),col=3
> points(ggll,al,ggl2,a],1wd=2)
> points(ggl1,1],gg[2,1],col=2,1vd=4) # 000000000
> lines(cbind(ggl1,1]+rr0[1]*cos(i),ggl2,1]+rr0[1]*sin(i)),col=2,1lwd=4)
> abline(v=g0[1],col=2) # DDDDDDDDDDDDDDDDDDDDDDD%

> abline(h=g0[2],col=2)
> lines(cbind(gO[1]+r*cos(i),g0[2]+r*sin(i)),col=4,1wd=4)

9gl2.]
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# 0000

plot(bb[1,],bb[2,],type="n") # OO OO OOOODO
for(k in a) lines(cbind(ggll,k]+rr0[k]*cos(i),
ggl2,k]+rr0[k]*sin(i)) %*% t(IR1),col=3,lwd=1)

points(bb[1,a]
points(bb[1,1]

,bb[2,a],1wd=2)
,bb[2,1],c0l1=2,1wd=4) # 0 O00O0O0O00OO

lines(cbind(ggl1,1]+rr0[1]*cos(i),ggl2,1]+rr0[1]*sin(i)) %*% t(IR1),

col=2,1lwd=4)
abline (v=b0[1]
abline (h=b0[2]

,col=2) # 00000000 DOO000O0OOODOOOOOODOO
,col=2)

lines(cbind(gO[1]+r*cos(i),g0[2]+r*sin(i)) %*% t(IR1),col=4,lwd=4)



bb[2,]

gbooooobobboooon
w=adp
Cit (8,67 = {w:w=dB,B e Cj (8,57}
Pr{w € C;Ll_"‘(,é,&2)} >1-a

w=dadR 'y =0b~y

00000 (Schwarz)D OO0

lw — @] = |[b'(F = < [Ibll - [ =~

0000b04—~00D0000000(b) =/a/(X'X) 1a

Cit=(8,6%) = {w : lw— @l < b5\/(p+ D F1.0p1}

10

gobogbboobooboboon

w=a'B=10by
@ = d'B = b5~ N',0?|b]?)

||u7—w||2 P w— w .
5~ Flap-1, =y ~tap-1
52|12 [ )

Ch(B,5%) = {w: [w— | < |1BI&\/Ffp -1}

Pr{w € 01},*“(3,&2)} =1-a

11

0000 (0D0)0o0ooo

'8
2 =522/ (X'X) 1z

Ciz(B3,6%) =@/ |28 - 2'B <5/ + DFy 10 p 1)
Cog(B,5%) = {a'B: 12/B— 2B < 5\/Ffu 1)
Cog(B,52) € Chlg*(B,52)
Pr{e/8 e i3 (8,52, va} =1 -«

Pr{w’ﬂ € LB, &2)} =1-a, V&

>
>

oo
# 000000000 (DO0DO0oO0oOooOooao
ss[1]/(n-length(b0)) # OOODODOO

[1] 1.396646

vV V. V V V VvV VvV

jx <= seq(min(x),max(x),length=300) # xO OO0 OODO

jx1 <= cbind(1,jx)

§y <= jxi %% bb[,1] # 00000 y0 00

jss <- apply(jx1 %*% IR1,1,function(v)sum(v*v))

js <= sqrt(jss*ss[1]/(n-length(b0))) # yO OO OO

al <- sqrt(length(b0)*qf (0.95,length(b0),n-length(b0))) # DO OO OO
al

[1] 2.584719

>
>

a2 <- sqrt(qf(0.95,1,n-length(b0))) # OO OO
a2

[1] 2.048407

>

>
>
>

## 00000000000OO0O0O0O0O
plot(x,yy[,1]) # O DOD
abline(bb[,1]) # 0OODO

lines(jx,jy+js*al,col=2,1wd=2) # (95,0 00000 (00O 13

> lines(jx,jy-js*al,col=2,1wd=2) # 095000000 (0O O
> lines(jx,jy+js*a2,col=4,1ty=2,1wd=2) # 95%0 0000000
> lines(jx,jy-js*a2,col=4,1ty=2,1lwd=2) # 9500000000

wh 1]

>## 000000000000 0000O0

> jyy <- jx1 %% bb # 0DD000y0DOOx00000000000

> dim(jyy)

[1] 300 10000

> jdd <- abs(jyy - jx) # 0000000000000

> jsss <- sqrt(jss %*% t(ss)/(n-length(b0))) # yO OO OO

> dim(jsss)

[1] 300 10000

> sum(apply(jdd <= jsss*al,2,all))/10000 # 00000000000 =x000
[1] 0.955

> sum(apply(jdd <= jsss*a2,2,all))/10000 # 0000000000 0000
[1] 0.8688

> sum(jdd <= jsss*a1)/(300%10000) # 00 DODDD0OO0x0000000000
[1] 0.9849633

> sum(jdd <= jsss*a2)/(300%10000) # 000000000 x00000000OO
[1] 0.9509127

>
>
>

## 0000
a <= (1:100) [apply(jdd[,1:100] > jsss[,1:100]1*al,2,any)]
a

[1] 29 42 43 53 55 61 81

V + + 4+ V + + + VvV V

plot(0,0,x1im=c(0,5) ,ylim=c(0,5) ,type="n",xlab="x",ylab="y")
for(k in 1:100) { # OO0 OO0O0O0O0OOOO
lines(jx,jyyl[,kl+jsss[,kl*al,col=3,1lwd=1) # (95000000 (000
lines(jx,jyyl[,kl-jsss[,kl*al,col=3,1lwd=1) # (953000000 (000
3

for(k in a) { # (D ODO0O0DO0OO0ODOOOODOOODOO
lines(jx,jyy[,k]l+jsss[,kl*al,col=2,1wd=2)
lines(jx,jyy[,kl-jsss[,kl*al,col=4,1wd=2)

3

abline(b0,lwd=4) # 000000
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